1: Place Value

In 3.20, in which place is the 27?

In 4.592, what digit is in the thousandths
place?

In 14.68, the digit 1 is in what place?

In 16.0428, in what place is the 2?

In 0.582, what digit is in the hundredths
place?
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2: Rounding

Round 4.532 to the nearest whole number

Round 7.517 to the nearest tenth

Round 189 to the nearest tens

Round 0.6743 to the nearest hundredth

Round 13.063 to the nearest tenth
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2: Rounding

Round 4. 232 to the nearest whole number
~J
Round 7.517 to the nearest tenth

1-35

Round 1 §9 to the nearest tens

190

Round 0.6743 to the nearest hundredth
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Round 13.063 to the nearest tenth
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3: Decimal Word Names
Write the decimal from the words

Zero and five thousandths

Sixteen and fifty-six hundredths

Four and seven hundred twelve thousandths

One and fourteen ten-thousandths

Six and one tenth
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3: Decimal Word Names
Write the decimal from the words

Zero and five thousandths

(. 808

Sixteen and fifty-six hundredths

(. SG

Four and seven hundred twelve thousandths

H. 712

One and fourteen ten-thousandths

| ocoIH

Six and one tenth
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4. Conversions

If 5 boxes weigh 12 pounds, how much
does 9 boxes weigh?

Jimmy types 14 words in 5 seconds. How
many words can he type in 2 minutes?

If 3 inches = 7.62 centimeters. How many
inches is 20 cm? Round to the nearest
hundredth.
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4: Conversions ¥
/
If 5 boxes weigh 12 pounds, how much A
does 9 boxes weigh?
A
boxes
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Jimmy types 14 words in S seconds. How ’
many words can he type in 2 minutes?
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If 3 inches = 7.62 cen -
inches is 20 cm? Round to the nearest i
hundredth. 1
%) 3 R i
™M 1.62 o K
7.<'ZK E _(_-__ N
T 7.62 i




r\\\ll\\lllllfll

5: Ratio Problems N 5: Ratio Problems

The ratio of boys to girls in 8t grade class
is 3:4. If there are 104 girls, how many
N boys are there?

| The ratio of boys to girls in 8t grade class
is 3:4. If there are 104 girls, how many
boys are there?
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1 There are 72 total markers and pens in a box. q i There are 72 total markers and pens in a box.
| If the ratio of markers to pens is 2:7 how i | If the ratio of markers to pens is 2:7 how
ey
M4 many pens are in the box? 4 4 many pens are in the box?
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6: Scaling Dimensions .
"
A school used the scale drawing [\ { |
to plan for a basketball court Nty 4
W in the gym. If the longer length £ = - —
- r units
|| of the court needs to be 74 feet, "
what will the shorter width be? 7
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6: Scaling Dimensions 4
A school used the scale drawing |}
to plan for a basketball court 4
in the gym. If the longer length ¢ A - A
B units
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The sketch of a deck is below. If 2 in. = 5 ft., -
find the area in square feet of the deck. 1
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7: Equations from Tables

Write an equation that models the data in the table.

Gall f

Daye (9 | s

2 24

3 36

4 48

6
Number | Length in
of Songs minutes

(x (#

3 135

6 27

9 40.5

12 54

Bill types 45 words in 30 seconds. Write an
equation to represent how many words y, Bill can
type in x minutes.
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7: Equations from Tables

Write an equation that models the data in the table.
5
Days (<) G:Iuﬂi;l T_‘ﬂo‘f 4
2 X2 24 X = IZ = \/ 5
3 y(z2 36 9
4 Xlr 48 »
6 X{(Z 72 .
o
Number L hi d
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() (2 2 = ) .
3 %4.513.5 n
6 x4q|5 27 ~
9 xu}540.5 X‘L{‘S“\! N
12 x4dl.5 54 =
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Bill types 45 words in 30 seconds. Write an ¥
equation to represent how many words y, Bill can S

type in x minutes.
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8: Equations from Graphs 8: Equations from Graphs d
)
Write an equation that models the data in the graph. Write an equation that models the data in the graph. i
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9: Tax, Tip, Discount

Subtotal for Food: $43.25
Find the Total with 8% sales tax.

Shirts cost $15. Find the total cost of 3 shirts
with a 20% off coupon.

The total bill at a restaurant was $34.50.
Jesse left $40.71 on the table to cover the bill
and tip. What percent of the total bill did
Jesse leave for the tip?

_?‘

LY

N NN b

hY

hY

L £ 1 5 %

i

oy

\

Fd

Fi

A

‘-LJ

Fd 2

9: Tax, Tip, Discount

Subtotal for Food: $43.25
Find the Total with 8% sales tax.
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Shirts cost $15. Find the total cost of 3 shirts

with a 20% off coupon.

3 shirks = 5 4S
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The total bill at a restaurant was $34.50.
Jesse left $40.71 on the table to cover the
bill and tip. What percent of the total bill

did Jesse leave for the tip?
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10 Is/ Of Percent Problems

What 1s 30% of 167

75 1s what percent of 1357

150% of what number is 32

-

LY

b . . Y

b}

X

£ 4 &1 % %

FJ

A 4

10: Is/Of Percent Problems V}
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What is 30% of 167? L o s ’
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f 11: Add and Subtract q 11: Add and Subtract i
Rationals M Rationals i
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12: Add and Subtract Mixed
Numbers

Put vour final answer in lowest terms
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13: Multiply and Divide }
N Rationals A
N 5
N (2)3)(=5)(-4) a
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14: Multiply and Divide
Mixed Numbers

Put vour final answer in lowest terms
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14: Multiply and Divide

Mixed Numbers

Put your final answer in lowest terms
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15: Graphing Points

Write the Coordinate for each Picture

(x,y)
y
i
s 51
4+
3+ b
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1 2
4 3 2 10 1 2 3 31
1 1t
34
4 +
5%
|
coffee shap
magic shop
gift shop
pet store

grocery store

theater
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15: Graphing Points '
Write the Coordinate for each Picture
(x,y) d
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16: Order of Operations
N —4+5(—6)—§
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e
= 9 3
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5
£ If x=-5 and y=-2, evaluate
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16: Order of Operations i
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—4+5(—6)—ﬁ /
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17: Combining Like Terms ; | 17: Combining Like Terms

h, %
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18: Equations from Words
I 4
Write an equation from the word statement M
N Six less than seven times a number is 22. -
L .
Fay "
o -
o .
| Four times the quantity of 8 and the E
quotient of x and 12 totals 100.
N 9
- -
k ]
= s,
1 You buy ¢ pounds of cherries for $2.95 per £
4 pound and a bag of potatoes for $4.99. The
| totalis $13.25. X
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18: Equations from Words

Write an equation from the word statement

C: — % =2 <
Six less than seven t1mes a number 1s 22.

¥

e —ia

£ &

( 8 + qu l?_ )
Four tlmes the quantity of 8@&!&1 the

quotient of x and 12 totals 100.
= [o©

[q,@“ AN g

You buy ¢ pounds of cherries for $2.95 per
pound and a+bag of potatoes for $4.99. The
total is $13.25.

$29S5¢c 1’%'-{.9‘? 13[3.25
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19: Inequalities from Words

Write an inequality from the word
statement

x1s at least 14

The difference of x and 7 is no more than 5

The sum of a number squared and 12
exceeds 18

The length of a rectangle is 20 and the
width is x+5. The area is less than 200

A
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19: Inequalities from Words

Write an inequality from the word
statement

>
x 1s at least 14

| %214

% = 9 & S

The difference of x and 7 is no more than 5

A

+ e
The sum of a number squared and 12
exceeds 18

> 1%

The length of a rectangle is 20 and the
width is x+35. The area is lesi than 200

M'j} 2 7 xS J;Oj
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20: Solving Equations

Solve Check
244y =10

Solve Check
21=-3(x+6)
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20: Solving Equations i
v
Solve Check ’
-4yE=10 _

-7y Ezq =3 ZH-HY-ID L]
=l yq=H {
- L e S: 24~ H. = q

o4 | =4 H-(z.s)= (q
Y=33) 5 2H-1M=10| L

f =mm— |

10 = [0v” i
r'
1
Solve Va R Check \
21=-3(x+6) i

| E: 21=-3(x+e)
213" 3%~ X

Hig e

S. 21 =-3(-13+¢)
}j_:. -8 x —
- 3 B S 21= -3(-1

- L-——J =
157 X] 1 = 2
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21: Solving Inequalities

Solve Check
Choose 1 number that is in
_2x + 5 < 19 the solution set and check
Solve

Circle the numbers that
are in the solution set.

18 -72 -12
218 -19
2175 -201
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21: Solving Inequalities
S
Solve Check
Ch 1 ber that is in A
4 —2x+I<19 | e sonimion se ana etieek
=5 =3 Chesse 5 {
- "
i -2x 4|1 ErZ%n &5 & 14 ’
- '——2 -Z- et
I §.-2:545 419 I
¥ =T "
~ —lb+5 <19 5
i Bt . L
| -s 4 19v |
i a
. ey
Solve
- -
LA Circle the numbers that e
are in the solution set.
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22: Graphing Inequalities
e
Write the inequality from the graph or
graph the inequality. i
.
"
v > 12
| | I I S | l.l | P 1 1 1 §
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~ ~ - s D AT A S Al 44 4™ 4 a4 -
U 2 3 4 5 b 7 & ¢ 10111213 14
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22: Graphing Inequalities

Write the inequality from the graph or
graph the inequality.

v > 12
} F . FE 4. b4 F F.  $ 4 .3 ¢
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23: Finding Angles

N

/BOE = 90°
ZAQOE = 30°
/DOE = 115°

ZBOC=
ZEOC =
ZAOB =

ZPOT = 40°

ZQOR = 75°
Z/SOR = 105°

ZT0S5 =
ZP0OQ =
ZQ0T =

b . .. . Y
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N  /BOF= 90°
4 _AOE = 30°

4 ~DOE= 115°

o
sBoc= 120

(-]
skoc= 1S 0
/AOB = o

Z/POT = 40°
ZQOR = 75°
ZSOR = 105°

15°

R
]0S
/705 = 3S°
+p0q =10S°
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24: Finding Angles with
Algebra

Fd

Y
ZWOY =9(°

£ZX0Z =50°
LWOV =170°

LWOX =

ZXOY =

LYOZ =

Y

Y
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24: Finding Angles with
Algebra

vV
ZWOY =90°
ZX0Z =50°
ZWOV =70°
Z2xtS° GO

o -t =3

X = 27-5 ZK §-§
2 i
© =

swox = O X=27.5

/X0y = HO

LYOZ= 720
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25: Area of Circles

(Calculator)

Use the following formula to help Calculate
the Area of the following Circles to the
nearest hundredth.

2
A =mr

Find the Area of the Circle in terms of m.

L

b . b

Y

° ]
25: Area of Circles
(Calculator) i
N Use the following formula to help Calculate i
~ the Area of the following Circles to the -
1 nearest hundredth. 1
2
B A =7r .
- prt
N -
= »
e pr’
b 7 L
Z =
| A:=Trc AzTrr o
1 R— g
| A=Te(0.0) A= (733)" [
L [A-339.79 1a%] [A:1L3.2%0n
1 .
' Find the Area of the Circle in terms of =n. L
4
i A=Trr i
- " .
AT -6 !
r
N
A ey
d B
9 =
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26: Circumference of Circles
(Calculator)

Use the following formula to help Calculate
the Circumference of the following Circles
to the nearest hundredth.

C=2nr

A circle has a circumference of 39.82 ft.
What 1s the diameter of the circle to the
nearest hundredth of a foot?

7

N N Y

LY

y Fad AR 4 Iy Fd

[ N W VR VL VS WS WONA WO Y Ay A AN A A |

26: Circumference of Circles

(Calculator)

Use the following formula to help Calculate
~ the Circumference of the following Circles
to the nearest hundredth.

C=2xnr

C':. Z-n-o (93 C:ZTQSS

1 &= 39.58 1% C:$53.7Z m

A circle has a circumference of 39.82 ft.
"l What is the diameter of the circle to the
nearest hundredth of a foot?

| (- 39.82 ¢!
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27: Circles
i (Calculator)
i Use the following formulas to help
N Calculate the following to the nearest
1 hundredth.
2
" A=rmr C=2mr
fro
ey
Scm

o
a
b
o5
-
o
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A
{ Area =
e
; Perimeter =
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27: Circles

(Calculator)

Use the following formulas to help
Calculate the following to the nearest
hundredth.

A=7r’ C=2xr

ircmfemc e

Aree = i ok Perimeter =

Cirele 3A o Circle
A-‘-"\T*Sz + 10
Cz 2vrr
A=T-23
" .2 Zw'S
A= 785‘—\ cw
£ 3 . C= 31.,M2
= x 3.
s
Area = B.QOCML :23_5(‘;
+10

Perimeter = 23.9b em = 33.5¢
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28: Volume I

(Calculator)

Use the following formula to help Calculate
the Volume of the following to the nearest
hundredth.

V=>0[eweh

A

| S
\ , : .
\ "
omly 3.8 ¢om
\ =
s

S.3 ¢

3.3 cm
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28: Volume 1

(Calculator)

Use the following formula to help Calculate
the Volume of the following to the nearest
hundredth.

V=[weh

=4, 95.5 56

e 79,7 an®

\/: <BSXSSX3S>
W= )"l 2 .%% cm >
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29: Volume II

(Calculator)

Use the following formula to help Calculate
the Volume of the following to the nearest
hundredth.

V=B-«h

B - Area of the Base
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29: Volume II |
(Calculator)
Use the following formula to help Calculate i
the Volume of the following to the nearest A
hundredth. 1
V=B-+h J
B - Area of the Base
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30: Surface Area

(Calculator)

Find the Surface Area of the Rectangular
Pyramid to the nearest hundredth of a yard.

A, W, W . W ¥
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30: Surface Area
(Calculator)

i Find the Surface Area of the Rectangular 4
N Pyramid to the nearest hundredth of a yard A
N 65+vd y. £
g ;”-'::‘ .
B ;::"A,' o
N 3wdy .
o o
™ L_‘:F'{' FCCC. A = R:SL‘\"’ Feee A »
~ . b-h 5
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